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Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each |

sentence. Then mark your answer sheet,

PART A: Vocabulary

1- Before you —--—-- to the next question, you should take some time to make sure
vou're happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—---—-- ; the kids spilled food all ever the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—-——- way the moving company tossed our boxes
into our new house,
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used - —- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- 1 never thought you would get so upset about such a --—-———-- matier.
1) contradictory  2) consistent 3) colloguial 4) trivial

6- The police wondered about the man’s ----eaee-- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to --—---—
forcibly.

1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm -----—-e- ,'' said the candidate, "that family farms must receive
government help.”
1) speculation 2) sateguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if yvou look it up in a/an
meemmmeeea (lictionary.
1) skilled 2) publicized 3) eultured 4) unabridged

10- Because the hikers planned to reuniic at 4:00 P.M., they paused to --—---—--- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers, are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) -------—-- the desired crop relatively unharmed.

Some of these act by interfering with (12) —---—--- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground, mdustrial sites. railways and railway
embankments are not selective (13) ——-—— all plant material with which they come into

contact. Smaller quantities are used in forestry. pasture systems, and management of areas
(14) ~==-—-—- as wildlife habitat.

Some plants produce natural herbicides, (13) - the genus Juglans (walnuts), or the
tree of heaven; such action of natural herbicides. and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kill 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best cheice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

A crane has a lot of different controls. Some control the movement of the crane, some
control the movement of the jib. The accelerator, brake and steering wheel control the
movement of the crane. The accelerator increases the speed of the crane, the brake stops
the movement at the crane, and the steering wheel controls the direction of the crane.
Three levers and one button control the movement of the jib. Lever A controls movement
of the jib, lever B cotrols horizontal movement of the jib, lever C controls the vertical
movement of the load and button A is an emergency stop.

16- A/An makes a crane go faster.

1) accelerator 2) brake 3) button 4) jib
17- The steering wheel

l) starts the engine 2) raises the load

3) avoids accidents 4) changes the direction of movement
18- The raises the load.

1) brake 2) control A 3) steering wheel  4) jib
19-  If there is an accident, the driver of the ¢rane has to push .

1) accelerator 2) button A 3)lever B 4) lever C
20- The load is raised or lowered by -- .

1) button A 2) lever A 3) lever B 4) lever C
PASSAGE 2:

A typical pressure measurement system consists of a monitoring device, a generator, a
back-up generator, a velay, an alarm, a control panel and a visual display unit. The
monitoring device measures the pressure in the pipeline and takes the information, via
the relay, to the visual display unit, If the pressure reaches a preset low level, the alarm
sounds and alerts the operator. The operator can then use the control panel to initiate an
emergency shutdown. Power is provided to the system by a generator. There is a back-up
generator which comes online in the event of a failure in the primary generator, or when
the primary generator is undergoing maintenance

21- There are components in the system.
1) eight 2) sIX 3) seven 4) nine
22- The information is fed by to the visual display unit.
1) the back-up generator 2) the monitoring device

3) the relay 4) the alarm
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23- In case there is a power failure in the system, the becomes
operational,
1) alarm 2) back-up generator
3) control panel 4) primary generator

24- In case the pressure is below a certain level, the system is by the
operator.
1) backed-up 2) initiated 3) maintained 4) shutdown

25- The purpose of the whole system is to - pressure.
| ) measure 2) monitor 3) relay 4) control

Drilling mud is a mixfure put in a well to control the pressure of the reservoir fluids. It
also cleans the drill bit and the bottom of the well, and carries cuttings out of the well. A
mud engineer is responsible for the drilling mud. He changes the mixture of the mud to
suit the well.

Water-based drilling mud is very common. It contains fresh water or sea water, bentonite
clay to give viscosity, and barite to give density. It also contains chemicals that the mud
engineer changes for different conditions. To make 800 bbl (barrels) of a water — based
drilling mud with a density of 12 Ib per US gallon, mix:

fresh water 672 bbl

barite 1552 sacks x 100 1b
bentonite clay | 104 sacks x 100 Ib
filtration agent | 320 [b

co-polymer 120 Ib
26- According to the passage, the drlling mud is used for major
purposes.
1) four 2) two 3) three 4) five
27- We know from the passage that the suitable mud is selected according to
1) the conditions of the well 2) the mixture of the mud
3) the size of the cuttings 4) the mud engineer

28- The second paragraph mainly discusses
I) viscosity and density of drilling mud
2) the contents of drilling mud
3) the mixture of water-based mud
4) the chemicals in the drilling mud

29-  The main responsibility of the mud engineer is to ,
1) suit the mud to the well 2) suit the well to the mud
3) control the mixture of the mud 4) change chemicals
30- We know from the passage that, in order to function properly, drilling mud has to
be enough.
1) dense 2) pure

3) viscous 4) viscous and dense
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